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QUESTION 1

Examine the output of the following query: SQL> SELECT tablespace_name, tablespace_size, allocated_space,
free_space 2 FROM DBA_TEMP_FREE_SPACE; TABLESPACE_NAME TABLESPACE_SIZE ALLOCATED_SPACE
FREE_SPACE ------------------------------ --------------- --------------- ---------- TEMP_L 157286400 144048128 157220864
TEMP 105906176 105906176 0 After some time you executed the same command and observed a different output, as
shown below: SQL> SELECT tablespace_name, tablespace_size, allocated_space, free_space 2 FROM
DBA_TEMP_FREE_SPACE; TABLESPACE_NAME TABLESPACE_SIZE ALLOCATED_SPACE FREE_SPACE
------------------------------ --------------- --------------- ---------- TEMP_L 131072 65536 65536 TEMP 105906176 105906176 0 

Why has the output changed? 

A. because checkpoint occurred 

B. because the TEMP_L tablespace was shrunk 

C. because the database instance was restarted 

D. because no sort operations are running currently 

Correct Answer: B 

 

 

QUESTION 2

View the Exhibit and examine the content. ALLOCATED_SPACE and FREE_SPACE are not matching with the
TABLESPACE_SIZE value. What would you conclude from this? 

A. A new temporary file is added to the tablespace. 
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B. The temporary space was not sufficient for sort operations. 

C. The temporary space allocated to large sort operations is not deallocated. 

D. TEMP_L is a default temporary tablespace because the numbers show some overhead on this tablespace. 

Correct Answer: C 

 

 

QUESTION 3

You are working as a DBA in ABC Corp. You are working on online transaction processing (OLTP) system. The
database uses ASM storage. One of the ASM disk goes offline because of hardware failure. When the disk is added
back again after the fix, because the database is active, rebalance operations impact the I/O subsystem.Which two
recommendations would you give to lower the impact on the I/O subsystem? (Choose two.) 

A. Increase the number of ASMB processes. 

B. Increase the number of DBWR_IO_SLAVES. 

C. Decrease the value for the ASM_POWER_LIMIT parameter. 

D. Increase the value for the ASM_POWER_LIMIT parameter. 

E. Set the DISK_REPAIR_TIME disk attribute to a lower value. 

F. Specify the POWER clause with a lower value in an ALTER DISKGROUP statement. 

Correct Answer: CF 

 

 

QUESTION 4

You are a DBA in ABC Corp. You are working on an online transaction processing (OLTP) system.The applications
running on the database use connection pooling to connect to the database to perform transactions. 

The company wants to upgrade the CPU and the memory for the machine on which the production database is running.
To test the realistic workload on the new machine with increased CPU and memory, you identified the peak workload 

time for the database and captured the workload on the production system. You set up the test machine with the
upgraded CPU and memory, and performed the following operations for replay: 

1) You preprocessed the captured workload. 

2) You restored the replay database to match the capture database at the start of the workload capture. 

3) You resolved all external references. 

4) You set up replay clients. 

You have the following replay considerations: 
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1) load testing to be performed 

2) all the sessions to connect immediately 

3) user waits between issuing calls to be kept to a minimum What replay options would you choose to accomplish the
replay? 

A. SYNCHRONIZATION = FALSE, THINK_TIME_SCALE = 0, CONNECT_TIME_SCALE = 0 and
THINK_TIME_AUTO_CORRECT = FALSE 

B. SYNCHRONIZATION = TRUE, THINK_TIME_SCALE = 100, CONNECT_TIME_SCALE = 0 and
THINK_TIME_AUTO_CORRECT = FALSE 

C. SYNCHRONIZATION = FALSE, THINK_TIME_SCALE = 100, CONNECT_TIME_SCALE = 100 and
THINK_TIME_AUTO_CORRECT = TRUE 

D. SYNCHRONIZATION = TRUE, THINK_TIME_SCALE = 100, CONNECT_TIME_SCALE = 100 and
THINK_TIME_AUTO_CORRECT = FALSE 

Correct Answer: A 

 

 

QUESTION 5

While diagnosing performance problems for a database, you find Buffer Busy wait is the reason from V$ views. But the
Automatic Database Diagnostic Monitor (ADDM) report does not reflect the Buffer Busy findings. Why does the Buffer
Busy finding not appear in the ADDM report? 

A. because an ADDM filter has been set 

B. because the he USE_INDIRECT_DATA_BUFFERS parameter has been set to TRUE 

C. because the DBIO_EXPECTED default task parameter for ADDM has been set to zero 

D. because the CONTROL_MANAGEMENT_PACK_ACCESS parameter has been set to DIAGNOSTIC 

Correct Answer: A 
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